Q: Y kH
CEW, w H
A= 2S em
b= 20cm
C = &em
E =4S cMm
= 40 cu
Ho:&?:/@aqw
onof //ar/g/cguu
| Z | 2!
(
i ! 2c¢
| Q !&_\3_,_}45; [f;a
A +ZB =/ ___

) Xi=05 X4+ X, =0 O
2= 05 Nk Qs — Pekbo’ -0 (2)
ZzL:O) ZA »6«@,Sim‘1_£0+zg—Psmgo"= @ (3)
Q}Mix:o; — b G~ a@sing +larh) 2, —
—(a + by gc)PSMM"z © (7/
I M=o, 1 Qs —R Psinso” =0 ()
O MCE: o' v Qe —(ar by Xp + R P cot60°=0 (6)



(U'(s SF, > (2\

YA = P40’ — () cos ¥5°

_5 (S)
- Q Sints® g4 ¢ Sinyce
= = 7 - 21773
P /?-5214600 0,/S $ig O° 73 el
’Tméa:
Y, = 23 ek g0’ — ¥ o8 ST = — £,7398 kM
U -» (0 i
§ o 6 4 . Sinus® # (arbe 30) Psingo’
e T "
ZBA @ffé

o 0 G.9 |7223-SC/,60°
24 + 6,25 4 Sinks 6T 4 : = Y5070 kH
0, 45

= G

1—(5 W’ n (3

= St "Igo”— ' '
<, 6+ Weir Zg + Psin 60 = 1+ % n — v 907 ¢

+ 2,733 51, 60° = (¢, 807 il

Uy g-% (6
X = O ERPeosb07 0L 01157k 052,775 cof 607
B a+ b o, 78 -
= 09,9914 xH
/Ma mo' s
><A - - XE): —_— 5’)9\9’/({ /C/Ll/

? — - . T
[7 epra CTHCUTEN e e }za/;n:mﬂe’ﬂcf/{ﬂa Ocee 2 i

w);ch(gévuéZ( Té/oéd m}c(y az a foce z2')



ZM52: = OXA - Xeg + R-P-ceséo® F-@ Cofse.

= —02S5-099%Y~- 0,2 ©95/Y + OS 2, {773 Lexép® +

7L C’/.[‘{Gé’f Ys? = O



